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Sample Paper – 2008

Class – X

Subject - Mathematics

Time allowed: 3 hours]





            [Maximum Marks: 80

General Instructions :
1. All questions are compulsory.

2. The question paper consists of 30 questions divided into four sections A, B, C and D. Section A contains 10 questions of 1 mark each, Section B is of 5 questions of 2 marks each, Section C contains 10 questions of 3 marks each and Section D is of 5 questions of 6 marks each.

3. There is no overall choice. However, internal choice has been provided in two questions of two marks each, two questions of three marks each and one question of 6 marks each. 

4. In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculator is not permitted.

SECTION A
1. The system of linear equations x + 2y = 5, 3 x + 12y =10 have:  
2. The quadratic equation kx2 – 2 kx + 2 = 0 has equal roots if the value of k is:
3. In an A.P. if common difference is 3, then t5 – t7 is :
4. In 
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 AD is bisector of 
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 and Ad meets BC at D. If AB = 5 cm, AC = 6 

     cm and CD = 3 cm, then BC =

5. A point P is 13 cm from the centre of a circle. If the radius of the circle is 5 cm,  

    then the length of the tangent drawn from P to the circle is:

6. The value of  
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is:

7. Two cubes each of 10 cm edge are joined end to end. The surface area of the  

     resulting cuboid is:
8. The mean of 30 numbers is 18. If 5 is added to every number, then the new  

     mean is: 

9. The three vertices of a triangle are (4,5), (6,8) and (8,1). The coordinates of its  

     centroid are:
10. The zeros of the quadratic polynomial 
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are:

SECTION  B
11. How many terms of the sequence 18, 16, 14,……. Should be taken so that  

      their sum is zero.
OR
      How many numbers between 20 and 200 are exactly divisible by 7? 
12. By using Euclid’s division algorithm, find the H.C.F. of the following numbers.

      867 and 255.

13. If 
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 and 
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 are the zeroes of 
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14. Show that the points (-1,-1), (2,3) and (8,11) are collinear.
15. Find the area of the triangle whose vertices are (2,9), (-2,1) and (6,3).

SECTION C
16. Show that 
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 is an irrational number.
17. Draw the graphs of the following equations:
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      Obtain the vertices of the triangle so obtained. Also determine the area.

18. Find the coordinates of the point equidistant from A(5,3), B(5,-5) and C(1,-5).

                                                         OR,

      The line segment joining A(2,3) and B(6,-5) is intersected by the x-axis at a  

      point P. Write down the coordinates of the point P. Find the ratio in which P  

      divides AB. 

19. A fast train takes 3 hours less than a slow train for a journey of 600 km. If the    

      speed of the slow train is 10 km/hr less than that of the fast train, find the  

      speeds of the two trains.

          20. A bag contains 20 black, x white and y green balls. A ball is drawn at random   

                from the bag. If the probability of getting a black ball is 
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 and the probability  

               of getting a white ball is twice the probability of getting a green ball, find  

               values of x and y.
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21. A round table cover has six equal design 

               as shown in the adjacent figure.

               If the radius of the cover is 28 cm, find 

               the cost of making the design at the rate

               of Rs 0.35 per cm2.
 22. Evaluate: 
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OR
      Prove that: 
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 23. Construct a triangle similar to a given 
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 such that each of its sides

       is 
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of the corresponding sides of 
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. It is given that BC = 6 cm, 
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24. The perpendicular AD on the base BC of a 
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 intersects BC at D so that  

      DB = 3 CD. Prove that: 2AB2 = 2AC2 + BC2. 
25. A 90 cm tall boy is walking away from the base of a lamp post at a speed of  

      1.5 m/s. If the lamp is 4.5 m above the base, find the length of the shadow of  

      the boy after 4 seconds.
SECTION D
26. Prove that The lengths of tangents drawn from an external point to a circle   

[image: image21.png]      are equal. 

     In the adjacent figure,

     PQ is a chord of length 8 cm 
     of a circle of radius 5 cm. The   

     tangents at P and Q intersect at a 
     point T. Find the length TP.
     27. Water flows through a circular pipe, whose internal diameter is 2 cm, at the    

          rate of 0.7 m per second into a cylindrical tank, the radius of whose base is 40  

          cm. By how much will the level of water in the cylindrical tank rise in half an    

          hour?

OR,

              A bucket is in the form of a frustum of a cone. Its depth is 15 cm and the 

               diameters of the top and bottom are 56 cm and 42 cm respectively. Find how  

               many litres of water the bucket holds. Also find the cost of the sheet used to    

               make this bucket at the rate of Rs 0.75 per cm2.

28. The angle of elevation of a cloud from a point 60m above a lake is 300 and  

      the angle of depression of the reflection of cloud in the lake is 600. Find the  

      height of the cloud.
OR,

      The angle of elevation of a jet plane from a point A on the ground is 600. After  

      a flight of 15 seconds, the angle of elevation changes to 300. If the jet plane is  

      flying at a constant height of 
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 m, find the speed of the jet plane.
29. Locate the median for the following distribution graphically and verify the   

      results.

	Income (in Rs)
	0-30
	30-40
	40-50
	50-60
	60-70
	70-100

	frequency
	10
	15
	30
	32
	8
	5


30. A boat covers 32 km upstream and 36 km downstream in 7 hours. Also, it 

      covers 40 km upstream and 48 km downstream in 9 hours. Find the speed of  

      the boat in still water and that of the stream.

· Work without faith and prayer is like an artificial flower without fragrance.
· There is no destiny beyond and above ourselves; we are ourselves the architects of our future.                                 Pujya Gurudev
ALL THE BEST
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